

■ 帯分数がはいたひき算を、いちど仮分数に直してからときましょう。

$$\textcircled{1} \quad 2\frac{2}{3} - \frac{2}{3} = \frac{8}{3} - \frac{2}{3}$$

$$= \square$$

$$\textcircled{2} \quad 3 - 2\frac{6}{8} = \square - \square$$

$$= \square$$

$$\textcircled{3} \quad 1\frac{1}{3} - 1 = \square - \square$$

$$= \square$$

$$\textcircled{4} \quad 2\frac{1}{7} - 1 = \square - \square$$

$$= \square$$

$$\textcircled{5} \quad 2 - 1\frac{2}{6} = \square - \square$$

$$= \square$$

$$\textcircled{6} \quad 3\frac{2}{7} - 1\frac{1}{7} = \square - \square$$

$$= \square$$

$$\textcircled{7} \quad 1\frac{2}{4} - \frac{2}{4} = \square - \square$$

$$= \square$$

$$\textcircled{8} \quad 3\frac{2}{5} - 1\frac{4}{5} = \square - \square$$

$$= \square$$

$$\textcircled{9} \quad 3\frac{3}{5} - 1 = \square - \square$$

$$= \square$$

$$\textcircled{10} \quad 1\frac{1}{2} - \frac{1}{2} = \square - \square$$

$$= \square$$

$$\textcircled{11} \quad 3\frac{1}{8} - 2\frac{6}{8} = \square - \square$$

$$= \square$$

$$\textcircled{12} \quad 3\frac{3}{6} - 2\frac{3}{6} = \square - \square$$

$$= \square$$

■ 帯分数がはいたひき算を、いちど仮分数に直してからときましょう。

$$\begin{aligned} \textcircled{1} \quad 2\frac{2}{3} - \frac{2}{3} &= \frac{8}{3} - \frac{2}{3} \\ &= 2 \end{aligned}$$

$$\begin{aligned} \textcircled{2} \quad 3 - 2\frac{6}{8} &= \frac{24}{8} - \frac{22}{8} \\ &= \frac{2}{8} \end{aligned}$$

$$\begin{aligned} \textcircled{3} \quad 1\frac{1}{3} - 1 &= \frac{4}{3} - \frac{3}{3} \\ &= \frac{1}{3} \end{aligned}$$

$$\begin{aligned} \textcircled{4} \quad 2\frac{1}{7} - 1 &= \frac{15}{7} - \frac{7}{7} \\ &= \frac{8}{7} \end{aligned}$$

$$\begin{aligned} \textcircled{5} \quad 2 - 1\frac{2}{6} &= \frac{12}{6} - \frac{8}{6} \\ &= \frac{4}{6} \end{aligned}$$

$$\begin{aligned} \textcircled{6} \quad 3\frac{2}{7} - 1\frac{1}{7} &= \frac{23}{7} - \frac{8}{7} \\ &= \frac{15}{7} \end{aligned}$$

$$\begin{aligned} \textcircled{7} \quad 1\frac{2}{4} - \frac{2}{4} &= \frac{6}{4} - \frac{2}{4} \\ &= 1 \end{aligned}$$

$$\begin{aligned} \textcircled{8} \quad 3\frac{2}{5} - 1\frac{4}{5} &= \frac{17}{5} - \frac{9}{5} \\ &= \frac{8}{5} \end{aligned}$$

$$\begin{aligned} \textcircled{9} \quad 3\frac{3}{5} - 1 &= \frac{18}{5} - \frac{5}{5} \\ &= \frac{13}{5} \end{aligned}$$

$$\begin{aligned} \textcircled{10} \quad 1\frac{1}{2} - \frac{1}{2} &= \frac{3}{2} - \frac{1}{2} \\ &= 1 \end{aligned}$$

$$\begin{aligned} \textcircled{11} \quad 3\frac{1}{8} - 2\frac{6}{8} &= \frac{25}{8} - \frac{22}{8} \\ &= \frac{3}{8} \end{aligned}$$

$$\begin{aligned} \textcircled{12} \quad 3\frac{3}{6} - 2\frac{3}{6} &= \frac{21}{6} - \frac{15}{6} \\ &= 1 \end{aligned}$$